Instructions utilisateur
eurapac PRO

Bacs a cartes 3/6 U

blindés

Subrack 3/6 U

User Manual
shielded

eurapac PRO

Baugruppentrager 3/6 HE

geschirmt

SCHROFF

Benutzeranleitung
eurapac PRO

\/

nve

-

00Z 76 L 28 0.(0)6%+ xeyolal e 0-76 L 28 0L(0)61+ UOBIOL o IpJeyuagnens #€€5.-Q e 001 - 96 @9enS Jageusbue
81/S0 WI09"JOIYIS/JUSAU MMM Hqwo jj04yss

1/5

64560 - 203 Rev.002



-'\/
nvent
SCHROFF

3HE/3U

< 160 >

9 (12x) 10 (12x) 11 (16...32x)
Torx 20 Torx 20 Torx 20
M4 x 6
M4 x 14 M4 x 10
12 (6x) 13 (6x)
M2,5x 12,3
2 3 2 3 2a
=ﬁooooooo%@]o ﬁwoooooooooo&@]@om
m} m}

< 220 > O m]

O O
=Fooooooo|%]o IB ooooooooooo|%]oo|%=
2 3 456 7 8 9104012 2 3 456 7 8 9 10 11 12 13 14 /1516 17 18

2/5

64560 - 203 Rev.002



\/

Nt

e

Y

SCHROFF

3/5

64560 - 203 Rev.002



-'\/
nvent

SCHROFF

6HE/6U

12 (16...32X)
Torx 20
M4 x 6

11 (12x)
Torx 20

M4 x 10
14 (

M4 x 14
13 (6x)
5x12,3

M2

(1x)

9

)

8 (2x

N

7 (1x)

6 (1x)

5

m]
m]
o0 0 o
O 0o o o
o0 0 o
m]
m]
m]
i
18

[m]
m]
[m]
o
6 17

O O O O O ON\O O O O ©o

i
iy

220
3 456 7 8 91011 1213 14

O O OO OO0 0 O o0 o0 o

i
2

=
14

o
213

oooo\{oo

=

O O 0O 0 0 0 O
3 45 6 7 8 910 1

LB
2

64560 - 203 Rev.002

4/5



’\ /
nvent

SCHROFF

5/5

64560 - 203 Rev.002



